mE - =ik



MR (RE YR

= B O AMEER | 4 &
R mm X & mm?2 mm
7003 2. 0x13 40 10. 4
7004 2. 0x19 60 12. 4
iR #% B 1+ & 9 avoU— A AW
20
N
M67RET Y+ M6 %16 ‘I
CT (#8R) T T
M6 x30 GB
8 (RFYLR)
NP
T [ SACE 2
5 J \_¢25 PUEPER
a M6AY 54

& | ERLR D FULE
7011-01 [ 40mm’E 119 119

7012-01]60 130 "
FHRmAEY ALCIRRA HIAW

20

D x

M6/RAT Y+ > M6 X 16 I

CT (8 T r

M6 x 60 @

3 (RFYLR)

r ASE 2/

syavah

52

M6 IT/N—F v vF

& OF | HERER D FULE
7014 40mmiz | 119 12.5¢

7015 60 13¢ [
ALCIRHA g TR
20
D N7

M6RETF Yk M6 x 16 I
(HR) (&8R) =
5. 8¢ XxX50K%Y @

3 (RFYLR)

i AVE 274
P E=D2=FN

)

Tavx—T55
s8

m B ERER D FULE
7014-01 | 40mm2Z | 119 8¢
7015-01 60 n 139 "

46




8 4% B 15 £ %

M6ARAS Y b

M6 %16 /

(E4R) (3 8R) ’i}f’
M6 x 12 63
3 (RFYLR)
| BERERDE ia)
unss)
o o
RFULRRIL b
50
B OB |EFASE | D | $ARESRO-FEY| C | L d
7021 | 40mm2iz (119 /I 15| 35| M6x30
7022 " [ h 30)50[ M8x40
7023 | 60mm2E [139 /N 15| 35 [ M6x30
7024 " " s 30[ 50| M8x40
&Y BHRR
% & ATULAE (SUS304)
20
M6eARAS Y b M6 x 16 I
() (&) 77,}57
M6 x 12 @
3 (RFULR) "—
L ATYLA ial
T
o o
M RFULRAL b d
50
W F| HAEH| D [RFTULREY[ c | L d
7026 | 40mm2iz [11¢ /I 15[ 35| M6x30
7027 " [ s 30| 50[ M8x40
7028 | 60mm2E [13¢ /N 15| 35| M6x30
7029 " " s 30| 50[ M8x40
&Y HHAN
Rt 5 ABSHiE®
20
M6RATY ~ M6 x 16 !
(#6) (#4R) ’ilf’
M6x 16 N
3 (RFULR)
3 A B SHiE

17
9.8

o B ERER D

7031 40mm2Z | 119

7032 60 139
&Y BRH
i 5 avsy—tu
20
M6ARAT Yk M6 X 16
(&8 () %
:
I
o N
130° \i?z@:u\
140° 3tx140%x140

& & ERER D

7033-02 | 40mm2Z | 119

7034-02 | 60 139

47



48

8 4% I 1T & 9

8 4% I 1T & 9

D Ny —
M6/RAT Y b M6 X 16 +
CTON (%4) T
R
- v
@ L |
L
T
MWt lmId
& Nhld | #REHK D
7041 M6 40mm2iz [ 119
7042 I 60 13¢
7043 M8 40 119
7044 [ 60 139
7045 M10 40 11¢
7046 " 60 139
L = = A
20
— L —
M6/RATY b T

(%4R)

50

30
& ERER
7047 40mm?i
7048 60

Jaas M6 Xx12

M6ARET Y b
(#EfR)

- e (RFYLR) ==
gA" M10Xx30
- (ARESND > F)
8l . SEERAENGD >
—— =
« 15 |5] 15 40
m & EREHR
7053-1_ | 40mm2E
7054-1 ] 60
BER kS
20
—_ L —_
M6ARAFT Y ~ M6 X 16 ,ili,
(6R) (%4R) o
T
il N
|

M8x 15
(RFYLR)
& E | #RaR
7055 40mm?i
7056 60 n




8 4% I 15 & 9

8 4% B 15 £ B

8 4% I 1T & 9

A& A ES k]
20
x
M6/RET Y b M6 X 16 I
E ) N
% ASE 278
oyayvdh
5. 8pX50KRY
(RTFYLR)
& E | ERER D
7057 40mm2ig 119
7058 60 1 13¢
£ Bt 57 ki A

M6ARFETY
(#4H)

33

10

20
, M6ARAF v b
=11 (3588)
P M6 x 12
[ -
L I (RTVLR)
g M10x30
— H 3[ (BKBRERDE)
g 2 I
~ BARMERD -
L
25 25 40
o & ERAHR D
7059-1 40mm2iz | 119
7060-1 60 1 139
BEEHR =R
20
M6ARETY M6 X 16 ,i,
(FE8R) (FR) 7T
oo [
™
10
150
M6 x 12
(RFYLR)
wm & EAER D
7061 40mm2iz | 119
7062 60 1 13¢
B &Y HEH
£ 4R Bk 15 so

o ' ERER

70638 40mm?2ig

7064 60 n

49



8 4% B 1 £ B

30

HmmteEy

30

el

33

M6 x 16 (#R)

M6 x 8 (#8H)

HE - REA

ﬂﬂ‘/Liilﬂr%EtXZ“’)
11

T EEEH

33

M6 x 16 (#R)

M6 x 8 (#8H)

mﬁ/u\ﬂf].%StXZS
11

& HEN
B HAMERD-T

M6ARET Yk

(F8R)

M6 x 16
(F8R)

E

S THEd

48.6¢

n




R E A E D

5 #R I = %

40

(RF2LR)
& ERER D
7121 40mm2iz | 119
7122 60 139

RFULRE
/o. 6t

100

]

o |

m & AR D
7125 40mm2z | 119
7126 60 139

Do O N

. E

I <ifF ko

g EN

3

i

St

S H =

(3]
—_



REMKSIBEY

M10x50 Ti#RIL K

(RERERD > 2) B E |ERXBE] D
R 7131 4866 | 509
HAES8¢x 35 7132 60.56 | 620
EEY 3¢x20
4
BARMERDOE

—
CTTETE— I M10x20 (RFULR

|
: 3-M10x25
; ﬁB/ (REREND > )

4.5 D 4.5

60

REMKSIBEY

M10x35
(BAMESRD > E)
B E XEENED
7133 48. 6¢
M10x50Ti#HRILk 7134 60. 5¢

(SAMESRD > E)

mAEY8$x35
EEY 3¢x20

50

2-M8x15
(RTYLR)

52



SRAMESRD > E

3—M10x25

REMKRSIBEY

120

A'/ B
&
%

iR

I

| <
jg

(SABERD S F)
M10Xx50Ti#HRL bk
(SARMERD )

60

50

REMKSIBEY

WAEY 8¢ X35
FEY 3¢x20

2—-M8x 156
(RTULR)

M10x35 ‘J’ 120

(SkAMEIRD > &)

M10Xx50Ti#ERL K
(BAMERD>E)

EAEY8$ X35
FEY 3¢x20

2-M8x15
(RTYLR)

o & FERAXEE| D
7135 48. 69 500
7136 60.5¢ 620

o & XEENED
7187 48.6¢
7138 60. 5¢

53



&&E7141 E&HimF A A 5 4% B BRE —ur Lo

M10x30, Zyivit
(FH= v 7LD F)

M10F vk, Tyvft
(B#H=v7 Lo E)

ey
o

w0
B9

N M6 x 14 A
e (ﬁﬁﬂ:‘y’r)b&)o%)x{ f-.
B |

| | v
@ ¢
A . )

100

50

GE7143 B & i F R4 B BRE —wrLHoE

M10x30, 7vsvif
(BHH=w 7LD E)

‘\ \( M6 x 14
Y (FR= v 7L E)

M10Fy b, Tyivft
(Bf=w7ILH>E)

m&E7 151 = i HilE —vT Lo F

150

S
[ H{OO ¢4 EEe
@ o]

M10F vk, Tyivft
(FH= v 7L E)

M6 x 14
(BIA= v 7L > &)

M10x30, Dwvif
(BH= w7 ILh>E)

RE7153 +FEEHKETF

@ M10Fv bk, Tyt
— (BE=vTILH-F)
100

M6x 14
(BR= w7 ILho &)

(FEA= w7 L2 E)

54



e 7 [P BEE —voLb
R&7155 K 8 % F 4R 42 FA FL—F E® s AAb-

#H4tx25%x250
M6 X 14 (VBaLH-E)
(BfH=— w7 LH>E)
M10Fv k. Tyivft
(B#H=— v 7 Lo E)

g N\ fhd ¥
‘IF'?L\ ==
w M10x30, Tyivit o
(BE=v 7L E)
= T KA oy LhoF-FLIAEH
£ 43 A JLu—t @¥  JDnLHoFE
100 T EHERA
(RAEET AR
_ C19%MHM)
(00 —| ©A®)
\ﬂﬂ%4tx25x250
M6 X 14 (P aLH-F)
(BE=v 7LD E)
M10F vy b, Tysvft M10F vy b, Tysyft
(BE= w7 E) (FILZESR)
&

s/
$14
620

M10x30, Zysvff— M10x30, Tyivft—
(=7 Lo E) (FLIER)

HEAR —vTLH-oE

mE7157 (L) RE7158 (F)

M5 (EfR=v7LHoE) ——r

32

T I I R2E7157 (b)
e ! .y
~ T~ o \/
| ‘ | 2 CENy
| | N
@ | | | “
© | | -
| | & 1
| | LT~
| |
i 8
| | 8
- \El':§7158 (F)
2L K 8 Im F #4 A AW ZRXHo=

0
AN

&.\ BRE S VE
1z

B & | IvG | ®B& | 41 | d2 | o | L
7171 55w 3. 50| 5. 56| 209 | 40
7172 | 140 ¢ 5. 80] 9. 06] 309 | 60
7173 22.0 1 7. 40(10. 9¢ " "
~— 7174 | 880 7 9. 40[13. 46| 409 | 80
7175 | 60.0 v | 2 0x13 |i1. 8616 34] "
7176 |100.0 7 | 2. 0x19 [16. 06]21. 09| 506 | 100
7177 150, 0 7 18 00]25. 06] 659 | 120

55



56

mE7187

XHRERESRmF

B RERm T

HKERERE T

BKRRAER T

75

R A

WE EEAN
JL—t -

M10x14, Tyt
=y 7LD o %)

12.5

ZYTLH-E
HEMEMRD O E

76. 3¢

—#TL—h
50x25x3t

#IL—+b
80x50x4. 5t
_ (BRERH-E)

M6 X 14
(FIA= w7 LHoE)

¥ AR
JL—+F

M10x14. Dysof
(BH=—v L&)

A 50x25x3t
HIL—+t
O —1 1775X4OOX6t
3 < ‘
8 Aaif
\ —Sb’i
I
I
=
L
M6 x 14 18]
A=viriLH-&
(EH= o) 25

hF HEAH
JL—+F f

M10x14, Tysrft

(Bf=— w7 LH>E)

100

50

| — EH O —{F

M6 X 14
(BEH=— w7 Lo =)

M10x 14, Tysvift

(BE#H= w7 LHoE)

100

50

| — B#HA—{F

M6 X 14
(BEH=v 7 Lo %)

|

-
iy

|

|

-

A

L\ 5

ZyhLhoE
- gkE

—HIL—

ZYTLHoE
- iR

—#TL—h
50x25x3t

#IL—+b
J7100X50X6t

—RTL—h
50x25x3t

AFULRATL—h
Jj100><50><6t




m&E7191

MmERI ST

RE7192 HREKIST VT

BEmERIS VT

iR #% FA

HAR —v7 Lo &

M8 x 40
(EER= v 7> E)

ERE —oTLDoE

EfH

HEHEEI ST

smEns 570

M8 X 40
(BA= V7 L2 E)

#$U 2-/nopHoF
fAE XXHoE
Ty YR ARARLFM8 X 25
(B -21=/0H-%F)

22¢p~360¢

AR A

EHEHF AR EM8 x 60
(BAR K> %) (#-21=v0Ho%)
& IVES| RE® T
00 mm’ 5. 9. 30
00 " 7. ) I
00 1 . . 40
00 " 2. 0x13 [ 11, . I
00 7007 | 2 0%x19 |16 0 50
#%E a1=-/0HoF
A RXHoE

Ty R FARARILEME x 25
(& -1=/08H->%F)

oy

D, (EARZXH-E) —ARARILIMI0x80
(B -1=/0HoF)
B 52T >
B OB |IVER| RB® T
006 mm’ 5 9.0 30
007 ] 7. | [
i 00 1 ‘ . 0
400~580 109 | 2 0x13 [11. . "
01 1007 | 2 0x19 |16, 0 50

57



HEEHKYIS VT S48 e a=y0pos
B EATER (30mmsZz)

55
#%-1=sRnHoE
Ehasd N
- I )
HE et
I I
sy || o 15) %0
BARXH-F) |11 . I
I I o [%7 F —i-1
PN L ©
#HBERI ST L&J 2 [ )
PR ——
pAEHs LT Ll of - E—=—== |
I B OF|IVE®R| RE® |
4mm’ 5 9. 30
H oE mm 7. R I
mm- . . 40
Il mm’ | 2. 0x13 [ 11,
100mm* [ 2. 0x19 |1

} } 5"0
BEEHGEISVT $ 4 /A BERMEBEND - =
25

K ~ 12.5 12.5
RARILE (RTULR) T T

M8 x507Fy kMt

S E[ : @
i Il Il
= ; 2-M84ayT e
6| 24
LN, s 15] 20 | 15
50 50
RARLE M8x12
e
& & B8 i F
1016 | A #R |[WEAR —wirédhoFE .
1017 | 758 |78 ¥
HEEHRISVT 848 A BEBMEND o=
AAKIL L (RFULR) 125 2% 125

M8 x50F kit ﬁ ﬁ
I I

K
Il Il
6
AARILE M8x12
wm B B 3 F

1018 | A #% [HIWM —vsLHoF
1019 TIVESR |[TILSH

58



mE7201—-4

Do O N

4000

25

7/

TRAF Kt - SN

mE 7211 @mE 7212 mE 7213
100

=)
(=3
12.5

WIL—F 3t 50 50
12.5| 25 12.512.5 25 | 12.5

50 50

12.5| 25 12.512.5 25 | 12.5 L ’_ T T "
o — |9 © 000l
~N

10006 © 0l 7
2 @ MIL—F 3t "

HTIL—k 3t 25 19.5 9 E

80 @
= R
M8F v k. Tyivft o 25 M8F vy k. Tyirft .
(EH= v Lo E) M8Fw b, Tyt (BEA= VT NHSF) H
BER= L >E) w
M8x25, Jwvit M8 x 25, Jvvit M8x25, Tyvft 1%
(BA= v 7> E) (BEA= v 7> E) (BHE= T ILH>E) =
A
m&E7221 5 I i F BIE —ur Lo =
1
Um
50 M8x25, Ty vit g
(BIl=w 7> E)

1.5 25 12.5 4 (0]

T X

M8F v k. Ty vt
(BEIA= 7 LH2E)

%
D)
7

80

T
(
4
=

N

M6 x 14 {
(Bf=— w7 LH>E) x

HY

© @

Fre =~

k
51

S
N
>

RE7231 Y . REW —orLbho% H

fi% 2. 0x13
1 /;E 250mm ;f}

M10F vk, Tyvft
(FA= v 7L > E)

M6 x 14
(BERA=v 7> E)
=

SHEHH

M10X80., 7yvft
(FA= v 7L &)

59



R&E7241-01 HEWAEY avyy—+HA

[[h:3E3=FN
= NRAE
M6 x4 0MEX
(RFYLR)
M6AY TS5

RE7248 EDHLSY REf I P

M6 x 16IMEX 20

27 (RFULR) ﬁ
A

29.5
15.5_14

mE72409 fmlfte) BER e 0 e

M6 x 14MEXR
(RFYLR) 20

A r—)\

22.5

BE7252 HEmMTEY $51 4R B 14 /B e

23

ﬁA// ‘ M6 x 10ME R
(34R)

60



HEmAEY

HEDMSEY

HE A EY

30

30

‘ 30 ‘

]

{1

50

s | 120y
of L Ea%g[?fstxzs
N

1

i)

R - BREA

‘ 30 ‘

{1

50

Sl oy

© R

of— s ::#//f71_5tx25
g

1l —

5. 8¢ x50MA*RY :’
(RFULR)

B oo

. E

I <ifF ko

e FmEN

3

< O N5t - TRA R




